Math 3 Name

Inverse Test Review Date Per

Find a formula for f7(x). Give the domain of 7 '(x), including any
restrictions “inherited” from f.
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Expand each logarithm. Rewrite each expression as a sum, difference,
or product of logs.
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For the following exercises, condense each expression to a single
logarithm using the properties of logarithms.
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Find the exact solution to the equation.
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Solve the equation. x=9
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Find an approximate solution to the equation. Round to 3 Decimal
places.
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Use your calculator to solve the equation between 0<0<360. Round your
answers to the nearest tenth. You should have 2 answers.
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Math 3

Inverse Test Non — Calculator Review

Evaluate the logarithm
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Find the exact value of the function.
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Find the exact value of the expression in radians and degrees.
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Find the exact value given the following information. Give your answer in radians or

degrees.
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Use Pythagorean Theorem to find the exact value.
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Solve each equation between 0 <8 <360
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